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Homework#1
Due on: Sunday 12/05/1437 H
Question#1:

Two Point charges g and Q are positioned as shown. If g = +2.0 nC, Q =-2.0 nC,
a =3.0 m, and b = 4.0 m, what is the electric potential difference, Va-Vs?
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VA =K 1+L:|

a Na®+b?

VB :K Q+L:|

L a Na®+b?

g=2%10"C Q=-2%10"C

VA—VB:9*109*2*109*F+_—1—_—1—1}:4.8V
35 3 5
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Question#2:

Calculate the energy required to assemble the
array of charges shown in Figure,

wherea =0.2 m, b = 0.4 m, and g = 6 uC. a

b
24 Rl

+2q +3g
L oele .
U =3, , summed over all pairs of (; ) where i ;.
i
o - |alz29) (-29)(39) (29)(39)  a(29) _a(3d) 29(-29)
§ b a b a \/a2+b2 \/a2+b2
U_kz[—2_6+6+2+3_4}
- %9 0400 0200 0400 0200 0447 0.447

Vo= (8'99X 109)(6'OOX lO_6)2[0.4400 - 0.2400 - 0.4147}2



